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Pre Calculus Ch 2 Practice Test
You must show ALL of your work to get full credit!

1. Find th% vertex, x and y intercepts of f(x)=x2+6x+5
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2. Write an equation for a parabola that has a vertex at (-2, 4) and passes

through the point (1, 10) n e
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3. Given the polynomial f(x)= 2x°® +4x®> - 2x* +6 6
a. What is the maximum number of zeros f(x) could have?
5

b. What is the maximum number of turning points?
¢. Sketch the end behavior of this graph:
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4. Given one zero is x=3, Find the real zeros of f(x)=x3-12x2 + 27x
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2 é Djvide using long division: (4x3-7x2- 11x+ 5) + (4x+5) 7
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6. Divide using synthetic division: (5x3 +6x + 8) + (x + 2)
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7. Use synthetic division (remainder theorem) to evaluate f(- 3) for

f(x)=3x%- 6x2 + 5x -1
3o < 5 - HCa)= 173
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8. Verify (x - 1) is a factor of f(x) = 3x* + 2x2- 3x -2 . Then factor completely

to find all zeroilfz9 _ (x- DCB X £ 5% +2)
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9. Write the equation (you can keep it in factored form) for the
polynomial with the following zeros: 8, -2 (multiplicity of 2), 4

o= 2) G-4)

10.Factor completely to find all zeros of f(x)= 2x3 - 3x2+ 6x - 9
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11. Find all the zeros of f(x)=x? - 2x? + 25x - 50 given that one zerois 5i & ~>"
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12. Simplify and write in standard form: ,
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13. Indentify the following for f(x)="—
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